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Combined Engineering Services in Examination – 02/07/2022 
 
 

1. The energy produced at a cheaper cost is 
a. Wind energy  b. Hydro electric energy  c. Nuclear energy 
d. Solar energy  e. Answer not known 
Fiwe;j nrytpy; cUthf;fg;gLk; Mw;wy; __________ MFk;. 

a. fhw;W Mw;wy;  b. ePh;kpd; Mw;wy;  c. mZf;fU Mw;wy; 

d. #hpa Mw;wy;  e. tpil njhpatpy;iy 
 

2. The vehicles are fitted with shock absorbers, which is based on 
a. Newton’s gravitational law  b. Newton’s first law 
c. Newton’s third law   d. Impulse 
e. Answer not known 
Nkhl;lhh; thfdq;fspy; mjph;T jhq;fpfs; nghUj;jg;gLtJ fPo;f;fz;l vjDld; 
njhlh;GilaJ 

a. epA+l;ldpd; <h;g;gpay; tpjp  b. epA+l;ldpd; Kjy; tpjp 

c. epA+l;ldpd; %d;whtJ tpjp  d. fzj;jhf;F 

e. tpil njhpatpy;iy 
 

3. Malaria fever is caused by which of the following parasite 
a. Plasmodium Vivax  b. P. Malariae  c. P. Falciparum 
d. All of these   e. Answer not known 
fPo;f;fz;ltw;Ws; vit kNyhpah Nehia cz;lhf;Fk; xl;Lz;zp 

a. gpsh];Nkhbak; itthf;]; b. gp. kNyhpah  c. gp. /ghy;rpghuk; 
d. ,it midj;Jk;   e. tpil njhpatpy;iy 
 

4. The main ingredient of antacid which is used to relieve acidity of stomach is 
a.  Acid  b. Base  c. Neutral solution 
d. Strong acid e. Answer not known 
tapw;wpy; cz;lhFk; mkpyj; jd;ik mjpfhpf;Fk; cghijia ePf;fg; gad;gLk; mkpy 
KwpTg; nghUspd; Kf;fpa %yg;nghUs;_________ MFk;; 

a. mkpyk;  b. fhuk;  c. eLepiy fiury; 
d. tPhpa mkpyk; e. tpil njhpatpy;iy 
 

5. The forest is essential for physical and climatic needs 
a. Protected Forest   b. National Forest  c. Village Forest 
d. Tree Lands   E. Answer not known 
ngsjPf kw;Wk; fhyepiy NjitfSf;F mj;jpahtrpakhd fhLfs;  

a. ghJfhf;fg;gl;l fhL  b. Njrpa fhL  c. fpuhk fhL 
d. ku epyq;fs;    e. tpil njhpatpy;iy 
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6. What is the per capita availability of water in India on 2011? 
a. 1545 cubic metres  b. 1515 cubic metres  c. 1673 cubic metres 
d. 1860 cubic metres   e. Answer not known 
2011-y; ,e;jpahtpy; jdp egUf;Ff; fpilj;j ePhpd; msT vd;d? 

a. 1545 fd kPl;lh;  b. 1515 fd kPl;lh;  c. 1673 fd kPl;lh; 
d. 1890 fd kPl;lh;  e. tpil njhpatpy;iy 
 

7. Who compared political parties to conduits that carry the process of social thought 
between electorate and the government? 
a. Barker   b. Sir Thomas More   c. T.H. Green 
d. Herbert Spencer  e. Answer not known 
murpay; fl;rpfs;> thf;fhsh;fSf;Fk; murhq;fj;jpw;f;Fk; ,ilNaahd r%f rpe;jidia 
vLj;J nry;Yk; ePh;Foha; Nghd;wit vd xg;gpl;lth; ahh;? 

a. ghh;fh;   b. rh; jhk]; Nkhh;   c. b.vr;. fphPd; 
d. n`h;gh;l; ];ngd;rh; e. tpil njhpatpy;iy 
 

8. The Foremost aspect of Fiscal Federalism is to realise 
a. Cost efficiency   b. Integrity   c. Morality 
d. Administrative Efficiency e. Answer not known 
“epjp $l;lhl;rp” vd;gjd; kpf Kf;fpakhd mk;rk; vd;gJ ,jid eilKiwf;f 
nfhz;LtUtjhFk;. 

a. rpf;fdj; jpwd;   b. Neh;ik   c. jhh;kpfk; 
d. eph;thfj; jpwd;   e. tpil njhpatpy;iy 
 

9. “Chinese water bomb” plan (dam) constructed across this river will put India at risk 
a. Indus river   b. Yangtse river  c. Brahmaputra river 

d. Hwang-Ho-river  e. Answer not known 
“rPd ePh; Fz;L” jpl;lk; (miz) ,e;ejpapd; kPJ fl;lg;gLtjhy;> ,e;jpahTf;F Mgj;J 
cz;lhf;Fk;  

a. rpe;J ejp   b. ahq;l;]p ejp  c. gpuk;kGj;uh ejp 

d. `{thq; N`h ejp e. tpil njhpatpy;iy 
 

10. Mahmud Gowan was executed on the charge of 
a. Murder  b. Adultery   c. Forged charge of Treason 
d. Theft  e. Answer not known 
 kfkJ fthd; ve;j Fw;wj;Jf;fhf nfhy;yg;gl;lhh; 

a. nfhiy  b. elj;ij-tpgr;rhuk;  c. Nghypahd Njrj;JNuhf Fw;wr;rhl;L 

d. jpUl;L  e. tpil njhpatpy;iy 
 

11. During the time of which Mughal Emperor gave permission to the British East India 
Company to established its 1th factory in Surat  
a.  Akbar  b. Jahangir   c. Shajahan 
d. Humayum  e. Answer not known 
Mq;fpyf; fpof;fpe;jpaf; fk;ngdp> jdJ Kjy; njhopy;fiyia #uj;jpy; ve;j Kjyhag; 
NguurUila mDkjpapd; Nghpy; njhlq;fpaJ? 

a. mf;gh;  b. [`hq;fPh;   c. ~h[`hd; 

d. `{khA+d;  e. tpil njhpatpy;iy 
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12. Match List I with List II and choose your answer from the codes given below: 
List I     List II 
Traveller     Rules of Vijayanagar 

a. Nicolo de Conti   1. Krishnadevaraya 
b. Domingo Paes   2. Devaraya II 
c. Ferno Nunz   3. Devaraya I 
d. Abdul Razzak   4. Achyuta Raya 

(A) (B)     (C)      (D) 
 a.    3  1 4 2 
 b.   1  4 2 3 
 c.   3  4 2 3 
 d.   2  1 4 3 
 e.  Answer not known 
 gpd;tUk; ml;ltizapy; nfhLf;fg;gl;L FwpaPLfis gad;gLj;jp rhpahd tpilapid 

 ml;ltiz- I cld; ml;ltiz- II nghUj;Jf. 
   ml;ltiz I    ml;ltiz II 
   gazpfs;    tpraefu Ml;rpahsh;fs; 

 a. epf;NfhNyh-B-fhz;b  1. fpU~;zNjtuhah; 

 b. Nlhkpq;Nfh ga];   2. Njtuhah; II 
 c. ngh;Ndh Ed;];   3. Njtuhah; I 
 d. mg;Jy; urhf;   4. mr;Rj uhah; 

(A) (B)     (C)      (D) 
 a.    3  1 4 2 
 b.   1  4 2 3 
 c.   3  4 2 3 
 d.   2  1 4 3 
 e.  tpil njhpatpy;iy 
 
13. Name the only Indus site with an artificial brick dockyard 

a. Lotha  b. Kalibangan  c. Chanhudaro 
d. Surkotoda  e. Answer not known 
nraw;if nrq;fy; fg;gy; JiwKfk; nfhz;l xNu rpe;Jrkntsp efuj;jpd; ngah; 

a. Nyhj;jy;   b. fypgq;fd;  c. rhd;FjhuNuh 
d. rh;NfhNlhlh e. tpil njhpatpy;iy 
 

14. What is the procedure for removal of a Vice President when he acts a President? 
a. Removed by a resolution in Lok Sabha 
b. Need permission from Chief Justice of India 
c. Need Permission from Attorney General 
d. The method remains the same as for the president  
e. Answer not known 
Jiz FbauRj; jiyth> FbauRj; jiytuhf nray;gl;L nfhz;bUf;fk; nghOJ 
mtiu gjtpePf;fk; nra;Ak; Kiw ahJ? 

a. fPoitapy; jPh;khdk; ,aw;Wtjd; %yk; 

b. ,e;jpa jiyik ePjpgjpapd; mDkjp fpilj;jTld; 

c. ,e;jpa jiyik tof;FiuQhpd; mDkjp fpilj;jTld;  

d. FbauRj; jiytiu gjtp ePf;fk; nra;a eph;zapf;fg;gl;l mNj Kiw 

e. tpil njhpatpy;iy 
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15. The Guardian of Indian Constitution is 
a. The Supreme Court   b. The Constituent Assembly 
c. The Parliament    d. The President 
e. Answer not known 
,e;jpa murpayikg;gpd; ghJfhtyhdhf tpsq;ff;$baJ 

a. cr;r ePjpkd;wk;    b. murpayikg;G eph;zarig 

c. ghuhSkd;wk;     d. FbauRj; jiyth; 
e. tpil njhpatpy;iy 
 

16. When was the Central Industrial Security Force established? 
a. 1963  b. 1949  c. 1959 
d. 1969  e. Answer not known 
kj;jpa njhopw;rhiy ghJfhg;Gg; gil vg;nghOJ Vw;gLj;jg;gl;lJ? 
a. 1963  b. 1949  c. 1959 
d. 1969  e. tpil njhpatpy;iy 
 

17. Under which circumstances the Indian Citizenship cannot be terminated? 
a. At the time of emergency  b. At the time of war 

c. At the time of Elections   d. All of these 
e. Answer not known 
ve;j #o;epiyapy; xUtuJ ,e;jpa FbAhpikia ePf;f KbahJ? 

a.  mtru epiy mkypy; cs;s NghJ  b. Nghh; ele;j nfhz;bUf;Fk; NghJ 

c. Njh;jy; eilngWk; NghJ   d. NkNy cs;s midj;Jk;  

e. tpil njhpatpy;iy 
 

18. Who among the following said that the preamble of the Indian Constitution is “The 
Key Note of the Constitution”? 
a. Ernest Barker  b. Jawaharlal Nehru  c. Dr. B.R. Ambedkar 
d. Nelson Mandela  e. Answer not known 
fPo;Fwpg;gplg;gl;lth;fSs;> ,e;jpa murpayikg;gpd; Kd;Diu jhd;> murpayikg;gpd; 
Kf;fpa Fwpg;G vd;W $wpaJ ahh;? 

a. vh;d];l; ghh;f;fh;  b. [t`h;yhy; NeU  c. Dr. B.R. mk;Ngj;fh; 

d. ney;rd; kz;Nlyh e. tpil njhpatpy;iy 
    

19. NABARD has been set up in  
a. 1982   b. 1983   c. 1984 
d. 1985   e. Answer not known 
‘NABARD’ Njhw;Wtpf;fg;gl;l Mz;L 

a. 1982   b. 1983   c. 1984 
d. 1985   e. tpil njhpatpy;iy 
 

20. Who is the Chairman of Fifteenth finance Commission? 
a. Ramesh Chand  b. N.K. Singh   b. Y.V. Reddy 
d. Ashok Lahiri  b. Answer not known 
gjpide;jhtU epjp Mizaj;jpd; jiyth; 

a. uNk~; re;j;  b. N.K. rpq;   c. Y.V. nul;b 

d. mNrhf; y`php  e. tpil njhpatpy;iy 
 

21. The imperative planning is also called 
a. Indicative Planning  b. Normative Planning  
c. Target Planning   d. System Planning  
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e. Answer not known 
jtph;f;f ,ayhj epiy my;yJ fl;lhakhFk; jpl;lkpLj;y ,t;thWk; miof;fg;gyhk;. 

a. Fwpf;Fk; jpl;lkply;  b. newpKiw jpl;lkply; 

c. ,yf;F jpl;lkply;   c. mikg;G jpl;lkply; 

e. tpil njhpatpy;iy 
 
22. The working of licencing policy in India under the committee of  

a. Visweshwaraiah Committee  b. Narasimham Committee 
c. Hazari Committee   d. Dutt Committee 

e. Answer not known 
,e;jpahtpy; jhuhskaf; nfhs;if nray;ghLfs; ve;j FOtpd; fPo; ,aq;fpaJ? 

a. tp];Nt];ua;ah FO  b. eurpk;kk; FO  c. `rhhp FO  

d. ll; FO    e. tpil njhpatpy;iy 
 

23. Jallianwala Bagh Massacre took place on 
a. 11th April 1918  b. 27th  May  1918  c. 13th  April 1919 

d. 30th May 1920  e. Answer not known 
[hyped; thyhghf; gLnfhiy epfo;e;j Mz;L 

a. 11 Vg;guy; 1918  b. 27 Nk 1918  c. 13 Vg;uy; 1919 
d. 13 Nk 1920  e. tpil njhpatpy;iy 
 

24. Assertion (A): The World-Wide Depression which set in late 1929 affected India. 
Reason (R):  A very sharp fall in prices, particularly of agricultural 
commodities and by bringing about a major crisis in the entire export-oriented colonial 
economy. 
a. (A) is true (R) is false 
b. Both (A) and (R) are true and (R) is the correct explanation of (A) 
c. (A) is false, (R) is true 
d. Both (A) and (R) are true  but (R) is not correct explanation of (A)  
e. Answer not known 
$w;W (A): 1929 ,d; gpw;gFjpapy; cUthd cyfshtpa ke;jepiy  ,e;jpahitAk; 
ghjpj;jJ. 
fhuzk; (R): Fwpg;ghf tptrhag; nghUl;fspd; tpiyfspy; kpff; fLikahd tPo;r;rp 
kw;Wk; xl;Lnkhj;j Vw;Wkjp rhh;e;j fhydpj;Jtg; nghUshjhuj;jpy; ngUk; neUf;fbiaf; 
nfhz;L te;jJ. 

a. (A) rhp> Mdhy; (R) jtW 

b. (A) kw;Wk; (R)Mfpa ,uz;Lk; rhp kw;Wk; (R) vd;gJ (A)- tpw;F rhpahd tpsf;fkhFk; 

c. (A) jtW> Mdhy; (R) rhp 

d. (A) kw;Wk; (R) Mfpa ,uz;Lk; rhp Mdhy; (R) vd;gJ (A)-tpw;F rhpahd tpsf;fky;y 

e. tpil njhpatpy;iy 
 

25. ‘Servants of India Society’ was founded by 
a.  Mahathma Gandhi  b. Gopala Krishna Gokhale 

c. Subash Chandra Bose  e. Dadabhai Naoroji  e. Answer not known 
‘,e;jpa njhz;lh; rq;fj;ij’ njhlq;fpath; 

a. kfhj;kh fhe;jp  b. Nfhghy fpU~;z NfhfNy 

c. Rgh~; re;jpu Ngh]; d. jhjhgha; nesNuh[p  e. tpil njhpatpy;iy 
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26. What is Damin-i-koh in Rajmahal area? 
a. Place of the Kol tribes   b. Place of the Munda tribes 
c. Place of the Santhal tribes  d. It’s a place in Malabar 
e. Answer not known 
uh[;k`hy; gFjpapy; ‘nlhkpd;-,-Nfh’ vd;why; vd;d? 

a. Nfhy; ,dj;jhpd; ,lk;   b. Kz;Nlh ,dj;jhpd; ,lk;  

c. re;jhy; ,dj;jhpd; ,lk;   d. kyghhpd; xU gFjp 
e. tpil njhpatpy;iy 
 

27. The first Chief Minister of Madras Presidency from Justice Party was 
a. Raja of Bobbili  b. Raja of Panagal  c. Rajan 
d. Subbarayalu  e. Answer not known 

 nrd;id khfhzj;jpd; ePjpf;fl;rpapypUe;J Kjy; mikr;ruhf ,Ue;jth; 

 a. nghg;gpyp murh;  b. gdfy; murh;  c. uh[d; 
 d. Rg;ghuhaY  e. tpil njhpatpy;iy 
 

28. Find the odd one from the following options 
a. Kattabomman Kummipadal  b. Khan Sahebu Sundai 
c. Kattabomman Kothu   d. Nandanar Charithra Keerthanaigal 
e. Answer not known 
fPo;tUtdtw;Ws; khWghlhd xd;iw fz;Lgpb 

a. fl;lnghk;gd; Fk;gp ghly;  b. fhd; rhfpg; rz;il 

c. fl;lnghk;kd; $j;J   d. ee;jdh; rhpj;jpu fPh;j;jidfs; 

e. tpil njhpatpy;iy  

   
29. What does this simile mean 

Agalvarai thangum Nilam pol….. 
(As earth bears up the men……) 
a.  Forbearance  b. Decorous conduct  c. Friendship 
d. Knowledge   e. Answer not known 
‘mfo;thiuj; jhq;Fk; epyk; Nghy’- ,t;Ttik czh;j;Jk; nghUs; 

a. nghiwAilik  b. xOf;fKilik   c. el;Gilik 
d. mwpTilik  e. tpil njhpatpy;iy 
 

30. Identify the author of “Oru Vandi centriyu” – Which is the first and foremost centriyu  
collection in Tamil? 
a. Erode Tamilanban  b. Abdul Rahman  c. Arivumathi 
d. Meera    e. Answer not known 
jkpopd; Kjy; nrd;hpA+ njhFg;ghd ‘xU tz;b nrd;hpA+’ vd;Dk; E}ypd; Mrphpah; ahh;? 

 a. <NuhL jkpod;gd;   b. mg;Jy; uFkhd;  c. mwpTkjp 

 d. kPuh     e. tpil njhpatpy;iy 
 
31. It is called as “Tray of the East” 

a.  Vellore Fort  b. The fort at Chenji  c. Fort of Tarangampadi 
d. Sivaganga Fort  e. Answer not known 
“fpof;fpd; buha;” vd miof;fg;gLtJ 

a. NtY}h; Nfhl;il  b. nrQ;rpf; Nfhl;il  c. juq;fk;ghb Nfhl;il 
d. rptfq;if Nfhl;il e. tpil njhpatpy;iy 
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32. To help means to serve the needy  
To protect means to live with loved ones 
Identify the next line 
a. To love means not to live within ones’s clan 
b. To have personality means to have decorum 
c. To have knowledge means to ignore inexperienced 
d. To have self righteousness means to keep up promises 
e. Answer not known 
Mw;Wjy; vd;gJ xd;W mye;jth;f;F cjTjy; 
Nghw;Wjy; vd;gJ Gzh;e;jhiug; gphpahik  

 -mLj;j thpfs; 

 a. mdngdg;gLtJ jd;fis nrwh mik 

 b. gz;ngdg;gLtJ ghlwpe;J xOFjy; 

 c. mwpntdg;gLtJ Ngijah; nrhy; Njhd;wy; 

 d. nrhpntdg;gLtJ $wpaJ kwh mik 

 e. tpil njhpatpy;iy 
 
33. Which of the following books belongs to the ‘Padhinen Melkanakku’? 

a. Thirukural    b. Thirumurugatru padai  c. Thirupavai 
d. Thiruthondar Puranam  e. Answer not known 
gpd;tUk; E}y;fspy; gjpndz; Nkw;fzf;F tifiar; Nrh;e;jJ vJ? 

a. jpUf;Fws;    b. jpUKUfhw;Wg; gil  c. jpUg;ghit 
d. jpUj;njhz;lh; Guhzk;;  e. tpil njhpatpy;iy 
 

34. In Sangam Society, the custom of sati was mentioned by 
a. Tolkappiyam  b. Ettutogai   c. Pathu Pattu 
d. Padinenkilkkanakku e. Answer not known 
rq;f fhyj;jpd; rKjhaj;jpy; epytp te;j cld;fl;il VWk; tof;fj;ij vLj;Jf; 
$WtJ 

a. njhy;fhg;gpak;   b. vl;Lj;njhif   c. gj;Jg;ghl;L 
d. gjpndz; fPo;fzf;F e. tpil njhpatpy;iy 
 

35. In 2019-2020, Tamil Nadu budget TANGEDCO will be establish the floating solar 
power projects in the following districts 
(i) Theni 
(ii) The Nilgiris 
(iii) Erode 
(iv) Salem 
Select the correct answers by using codes 
a. (i) and (ii)  b. (i), (ii) and (iii)  c. (i), (ii) and (iv) 
d. (i), (iii) and (iv) e. Answer not known 
2019-2020-Mk; Mz;L jkpo;ehl;bd; gl;n[l;by; TANGEDCO gpd;tUk; khtl;lq;fspy; 
kpjf;Fk; #hpa kpd; jpl;lj;ij epWTk;. 
(i) Njdp   
(ii) ePyfphp   
(iii) <NuhL 
(iv) Nryk; 
a. (i) kw;Wk; (ii)  b. (i)> (ii) kw;Wk; (iii)  c. (i)> (ii) kw;Wk; (iv) 
d. (i)> (iii) kw;Wk; (iv) e. tpil njhpatpy;iy 
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36. Match the List  I with List II and select the correct answer from the codes given below 
List I       List II 

A. Poverty Reduction Programme  1. Mid day meals 
B. Human Development Scheme   2. Indira Awas Yojana 
C. Social Assistance Scheme   3. National Old Age Pension 
D. Minimum Need Scheme    4. MGNREGA 

(A)     (B)      (C)      (D) 
 a.    4        1         3          2 
 b.    2         3         4          1 
 c.    3         4         1          2 
d.    4         3         2          1 
e.  Answer not known    
gpd;tUk; ml;ltizapy; nfhLf;fg;gl;L FwpaPLfis gad;gLj;jp rhpahd tpilapid 
ml;ltiz-I cld; ml;ltis -II-I nghUj;Jf. 
ml;ltiz-I    ml;ltiz-II 

A. tWik xopg;Gj; jpl;lk;   1. kjpa czT 

B. kf;fs; Nkk;ghl;Lj; jpl;lk;  2. ,e;jpuh Mth]; Nah[dh 

C. r%f cjtpj; jpl;lk;   3. Njrpa KjpNahh; ngd;~d; 
D. mbg;gilj; Njitfs; jpl;lk;  4. MGNREGA 

(A)     (B)      (C)      (D) 
 a.    4        1         3          2 
 b.    2         3         4          1 
 c.    3         4         1          2 
d.    4         3         2          1 
e. tpil njhpatpy;iy  
 

37. Match the following: 
A. Sovereignty   1. Promoting social change to end all forms of inequalities 
B. Socialism   2. Government of the people, by the people and for the 
people 
C. Secularism  3. Freedom to profess, preach and practice any religion 
D. Democracy  4. Complete political freedom and supreme authority 
    (A)  (B) (C) (D) 
a.   4    1   3   2 
b.   2    1   4   3 
c.   3    2   1   4 
d.  1    2   3   4 
e. Answer not known 
nghUj;Jf.  

a. ,iwahz;ik  1. vy;yh tpj Ntw;WikiaAk; jfh;f;f r%f khw;wj;ij  
    cUthf;Fjy; 

b. nghJ eyNfhl;ghL 2. kf;fshy;> kf;fSf;fhf> kf;fshfNt nra;Ak; Ml;rp 

c. kjr;rhh;gw;w  3. ve;j kjj;ij Ntz;LkhdhYk; gpd;gw;w> giwrhw;w  
    Rje;jpuk; 

d. [dehafk;  4. Kw;wpYk; murpay; Rje;jpuk; kw;Wk; ,iw mjpfhuk; 

    (A)  (B) (C) (D) 
a.   4    1   3   2 
b.   2    1   4   3 
c.   3    2   1   4 
d.  1    2   3   4 
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e. tpil njhpatpy;iy 
 

38. Assertion (A): The Socio economic growth strategy should aim at a significant 
redistribution of income and consumption. 
Reason (R):  A substantial reduction in poverty is possible only through 
production relations which help redistribution of income in favour of the poorer 
sections of the  population. 
a. Both (A) and (R) are true but (R) is not a correct explanation of (A)  
b. (A) is true but (R) is false 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true and (R) is the correct explanation of (A)  
e. Answer not known 
tpypAWj;jy; (A): r%f nghUshjhu tsh;r;rpf; nfhz;ifahdJ tUtha;-Efh;T  
   kWgq;fPL nra;tjij Kf;fpa Nehf;fkhf nfhz;bUf;f Ntz;Lk; 
fhuzk; (R):  cw;gj;jpahy; kl;LNk fzprkhd tWik Fiwg;G rhj;jpakhFk;. 
   mJ Vio gphpT kf;fSf;F rhjfkhf tUtha; kWgfpHT nra;a  
   cjTk;. 
a. (A) kw;Wk; (R) ,uz;Lk; cz;ik> Mdhy; (R) vd;gJ (A) tpDila rhpahd 

tpsf;fky;y 

b. (A) vd;gJ cz;ik Mdhy; (R)  vd;gJ jtW 

c. (A) vd;gJ jtW Mdhy; (R)  vd;gJ cz;ik 

d. (A) kw;wk; (R),uz;Lk; cz;ik> kw;Wk; (R)  vd;gJ (A) tpw;W rhpahd tps;f;fkhFk; 

e. tpil njhpatpy;iy 
 

39. If Manohar pays an interest of ` 750 for 2 years on a sum of  ` 4,500.  
Find the rate of interest. 

a. 8%   b. 8
1

3
%  c. 8

2

3
% 

d. 8
3

4
%  e. Answer not known 

kNdhfh; vd;gth;  4>500-f;F  750 tPjk; 2 tUlq;fSf;F tl;b nrYj;jpfpwhh; vdpy; mth 
nrYj;jpa tl;b tPjk; vd;d? 

a. 8%   b. 8
1

3
%  c. 8

2

3
% 

d. 8
3

4
%  e. tpil njhpatpy;iy 

40. Find x so that x+6, x+12 and x+15 are consecutive terms of a Geometic progression. 
a. -78  b. -18  c. -12  d. -6  e. Answer not known 
x+6, x+12 kw;Wk;  x+15 vd;gd xU ngUf;Fj; njhlh; thpirapd; njhlh;r;rpahd %d;W 
cWg;Gfs; vdpy; x-d; kjpg;igf; fhz;f. 
a. -78  b. -18  c. -12  d. -6  e. tpil njhpatpy;iy 
 

41. Which term of the series 16, 11, 6, 1…..is -54? 
a. 16  b. 19  c. 14  d. 15  e. Answer not known 
16>11> 6> 1…..vd;w njhlh; thpirapy; -54 vd;gJ vj;jidahtJ cWg;G? 
a. 16  b. 19  c. 14  d. 15  e. tpil njhpatpy;iy 
 

42. Raman’s age is three times the sum of the ages of his two sons. After 5 years his age 
will be twice the sum of the ages of his two sons. Then the present age of Raman is 
what?  
a. 45  b. 55  c. 65  d. 70  e. Answer not known 
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,uhkdpd; taJ mtUila ,U kfd;fSila taJfspd; $Ljiyg;Nghy; %d;W 
klq;fhFk;. Ie;jhz;Lfs; fopj;J mthpd; taJ jdJ kfd;fSila taJfspd; 
$Ljiug; Nghy; ,U klq;fhFk; vdpy; ,uhkdpd; jw;Nghija taJ vd;d? 
a. 45  b. 55  c. 65  d. 70  e. tpil njhpatpy;iy 
 

43. Fill in the blanks. 
4, 5, 9, 18, 34, __________ 
a. 59  b. 50  c. 49  d. 43  e. Answer not known 
Nfhbl;l ,lj;ij epug;Gf. 
4> 5> 9> 18> 34> _________ 
a. 59  b. 50  c. 49  d. 43  e. tpil njhpatpy;iy 
  

44. Pick out the odd one. 
CFD, GJH, VYM, JMK 
a. CFD  B. GJH   c. VYM 

d. JMK  e. Answer not known 
,tw;wpy; nghUj;jkw;wJ vJ? 
CFD, GJH, VYM, JMK 
a. CFD  B. GJH   c. VYM 

d. JMK  e. tpil njhpatpy;iy 
 

45. Find the difference between simple interest and compound interest for a sum of Rs. 
8,000 lent at 10%   p.a. in 2 years 

a.  Rs. 80   b. Rs. 90    c. Rs. 70 

d.  Rs. 100   e. Answer not known 

Rs. 8,000-f;F 10% tl;b tPjk; vdpy; ,uz;L Mz;Lfspy; fpilf;Fk; $l;L tl;bf;Fk; 
jdp tl;bf;fk; cs;s tpj;jpahrj;ijf; fhz;f. 

a.  Rs. 80   b. Rs. 90    c. Rs. 70 

d.  Rs. 100   e. tpil njhpatpy;iy 
 

46. The value of a machine depreciate by 5% each year. A man pays Rs. 30.000 for the 

machine. Find its value after three years. 

a.  Rs. 25,721   b. Rs. 25,722   c. Rs. 27,521 

d. Rs. 22,752   e. Answer not known 
xU ,ae;jpuj;jpd; kjpg;G xt;nthU Mz;Lk; 5 Fiwfpwj. Xuth; ,ij thq;Ftjw;F  

Rs.30>000 nfhLj;jhh;. %d;W Mz;LfSf;Fg; gpwF ,jd; kjpg;G vd;d? 

a.  Rs. 25,721   b. Rs. 25,722   c. Rs. 27,521 

d. Rs. 22,752    e. tpil njhpatpy;iy 
 

47. A farmer has enough food for 144 ducks for 28 days. If he sells 32 ducks, how long will 
the food last? 
a. 84  b. 36  c. 72  d. 68  e. Answer not known 
xU tptrhapaplk; 144 thj;JfSf;F 28 ehl;fSf;F Njitahd czT cs;sJ. mth; 
32 thj;Jf;fis tpw;Wtpl;lhh; vdpy; mtrpak; cs;s czT kPjKs;s vj;jid 
ehl;fSf;Fg; NghJkhdjhf ,Uf;Fk;? 
a. 84  b. 36  c. 72  d. 68  e. tpil njhpatpy;iy 
 

48. Find the value of x from the following equal ratio’s 
11: x :: 6: 66 
a. 6  b. 11  c. 112  d. 62  e. Answer not known 
11: x :: 6 : 66 vd;w tpfpj rkj;jpy; x-d; kjpg;G fhz;f 
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a. 6  b. 11  c. 112  d. 62  e. tpil njhpatpy;iy 
 

49. Find the HCF of x3 – x2 + x – 1 and x4  -1. 
a. (x2 +1) (x2 -1)  b. (x2 -2) (x +1)  c. (x2 +1) (x -1)2 

d. (x2 +1) (x -1)  e. Answer not known 
x3 – x2 + x – 1 kw;Wk; x4  -1 ,tw;wpd; kP.ngh.t. fhz;f. 
a. (x2 +1) (x2 -1)  b. (x2 -2) (x +1)  c. (x2 +1) (x -1)2 

d. (x2 +1) (x -1)  e. tpilnjhpatpy;iy 
 

50. H. C. F of 513 and 1134 is  
a. 9  b. 81  c. 27  d. 31   e. Answer not known 
513 kw;Wk; 1134-d; kPg;ngU nghJf; fhuzpia fhz;f. 
a. 9  b. 81  c. 27  d. 31   e. tpilnjhpatpy;iy 
 

51. Which of the following material is used to make control rods in a nuclear reactor? 
a. Sodium  b. Cadmium   c. Potassium 
d. Iron   e. Answer not known 
gpd;tUk; jdpkq;fspy;> xU mZf;fU ciyapy; fl;Lg;ghl;Lj; jz;Lfs; 
nra;ag;gad;gLtJ vJ? 

a. Nrhbak;  b. fhl;kpak;   c. nghl;lhrpak; 
d. ,Uk;G  e. tpil njhpatpy;iy 
 

52. Land and Sea breezes and trade winds are formed due to  
a. Convection b. Heat conduction  c. Heat radiation 
d. Scattering  e. Answer not known 
epyk; kw;Wk; fly; fhw;w kw;Wk; tpahghu fhw;W ,jdhy; cUthfpwJ _________. 

a. ntg;gr;rydk; b. ntg;gf; flj;jy;  c. ntg;g fjph;tPr;R 
d. rpjwy;;;;;;  e. tpil njhpatpy;iy. 
; 

53. “The future of manufacturing”- 3D printing is preferred than traditional 
manufacturing is due to which of the following reasons? 
a. Cost reduction    b. Quality and Faster marketing 
c. Low wastage     d. All the above 
e. Answer not known 
vjph;fhy cw;gj;jp nra;jypy; Kg;ghpkhd mr;R Kiw kuG rhh;e;j cw;gj;jpiaf; fhl;bYk; 
tpUk;gg;gLfpwJ vjdhy;? 

a. tpiy FiwT    b. juk; kw;Wk; tpiuthd tpw;gid 
 c. Fiwe;j fopT    d. ,it vy;yhk; 
 e. tpil njhpatpy;iy 
 
54. The maximum life span of the queen honeybee is upto 

a. 24 years   b. 21 years   c. 15 years 
d. 5 years   e. Answer not known 
,uhzpj;NjdPapd; mjfgl;r tho;Tf; fhyk; 

a. 24 tUlk;   b. 21 tUlk;   c. 15 tUlk;  
d. 5 tUlk;   e. tpil njhpatpy;iy 
 

55. Which tribal group not included in Tribes of India? 
a. Dravidian Tribe   b. Mongoloid Tribe   c. Turko-Iranian Tribe 
d. Austoloid Tribe   e. Answer not known 
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,e;jpahtpy; goq;Fbfspy;__________ ,jpy; ve;j goq;Fb ,lk; ngwhJ. 

a. jpuhtpbad; goq;Fb   b. kq;fyha;L goq;Fb 
c. Jh;fpNah-,uhdpad; goq;Fb  d. M];Nlhyha;L goq;Fb 

e. tpil njhpatpy;iy 
 

56. The main objective of second green revolution 
a.  To raise the agricultural productivity to promote food security 
b. To promote sustainable agriculture 
c. To increase the per capita income of farmers 
d. All the above  
e. Answer not known 
,uz;lhtJ gRik Gul;rpapd; Kf;fpa Nehf;fk; 

a. czTg; ghJfhg;ig Nkk;gLj;Jtjw;fhf tptrha cw;gj;jpj; jpwid cah;j;JtJ. 

b. epiyahd tptrhaj;ij Nkk;gLj;Jtjw;fhf 
c. tptrhapfspd; jdpegh; tUkhdj;ij mjpfhpf;f 

d. Nkw;$wpa midj;Jk; 

e. tpil njhpatpy;iy 
 

57. Which of the following regions receive minimum rainfall in India? 
a. Western Madhya Pradesh  b. Western Rajasthan 
c. Eastern Madhya Pradesh  c. Orissa 
e. Answer not known 
gpd;tUtdtw;Ws; ,e;jpahtpy; Fiwe;j msT kiog;nghoptpid ngWk; gpuNjrk; vJ? 

a. Nkw;F kj;jpag;gpuNjrk;   b. Nkw;F ,uh[];jhd;  

c. fpof;F kj;jpag;gpuNjrk;   d. xhprh 
e. tpil njhpatpy;iy 
 

58. The first International Women’s Day got celebrated on March 19 th in which year? 
a. 1911  b. 1913  c. 1916 
d. 1921  e. Answer not known 
rh;tNjr kfsph; jpd; 19-Mk; Njjp khh;r; khjk; Kjy; Kiwahf ve;j tUlk; 
nfhz;lhlg;gl;lJ? 
a. 1911  b. 1913  c. 1916 
d. 1921  e. tpil njhpatpy;iy 
 

59. ‘Flying Sikh’ popularly called as famous sports man is  
a. Manoj Singh  b. Milkha Singh   c. Mithra Singh 
d. Madhan Singh   e. Answer not known 
‘gwf;Fk; rPf;fpah;’ vd;W gpugykhf mwpag;gLk; Gfo;ngw;w tpiahl;L tPuh; 

a. kNdh[; rpq;  b. kpy;fh rpq;   c. kpj;uh rpq; 
d. kjd; rpq;   e. tpil njhpatpy;iy 
 

60. The name ‘Telangana’ refers to the word 
a. Trilinga Desa  b. Telugu Desa  c. Tribe Desa 
d. Thiribura Desa  e. Answer not known 
‘njYq;fhdh’ vd;w ngah; ve;j thh;j;ijia Fwpf;fpwJ. 

a. jphpypq;fh Njrk;  b. njYq;F Njrk;  c. kiy Njrk; 
d. jphpGuh Njrk;  e. tpil njhpatpy;iy 
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61. Current Telungana state Governor is 
a.  Tamilisai Soundararajan  b.Tamilselvi  c. Soundararajan 
d. Kannaiah     e. Answer not known 
jw;Nghija njYq;fhdh khepy fth;dh; ahh;? 

a. jkpopir nrse;jh;uh[d;  b. jkpo; nry;tp  c. nrse;jh;uh[d; 
d. fz;za;ah   e. tpil njhpatpy;iy 
 

62. In which sites of the Indus Valley had no citadel? 
a. Chanhudaro  b. Lothal   c. Kalibangan 
d. Rangpur   e. Answer not known 
Nfhl;il ,y;yhj xNy rpe;Jrkntsp efuk; vJ? 

a. rhd;FjhNuh  b. Nyhj;jy;   c. fypgq;fd; 
d. uq;G+h;   e. tpil njhpatpy;iy 
 

63. Name the Sultan of Delhi Sultanate at the time of Timur invasion 
a. Daulat Khan Lodi   b. Ghiyasuddin Tughlaq   
c. Firoz Shah Tughlaq  d. Nasiruddin Mohammad Shad Tughlaq 

e. Answer not known 
ij%h; gilnaLg;gpd; NghJ by;yp Ry;jhdpy; Ryjhdhf ,Ue;jth; ngah;? 

a. njsyj; Nyhb   b. fpahRjpd; Jf;sf;   

c. ngNuh]; ~h Jf;s;f  d. e]P&jpd; KfkJ ~h Jf;sf;  

e. tpil njhpatpy;iy  

 
64. Among the following, what way the great achievement of Shivaji? 

a. He was the father of the Marathen nation 
b. Defeated the Mughal forces 
c. He was a besurobent ruler 
d. Checked expansion of Mughal empire in the South India 
e. Answer not known 
fPo;f;fz;ltw;Ws; rpth[papd; kpfg;nghpa rhjid vJ? 

a. kuhj;jpa Nguurpd; je;ij 
b. nkhfhyhag; gilia Njhw;fbj;jhh; 
c. kpfr;rpwe;j Ml;rpahsh; 

d. nkhfyhag; Nguurpd; tphpthf;fjpid njd;<e;jpahtpy; Njhd;w nra;jhh; 
e. tpil njhpatpy;iy 
  

65. “Some rulers may have one or two children’s; For me, I have thousands of my 
children’s, they are none other than my Turkic slaves. They are the rulers of my 
conquered provinces. The will certainly reverberate my name during kutba;s”. Who 
said the above statement? 
a. Baha-ud-Din Gurshasp   b. Mahmud of Ghazani 
c. Shihabu-d-Din Muhammad  d. Qutbu-d-Din Aybak 
e. Answer not known 
kw;w murh;fSf;F xU gps;is my;yJ ,uz;L gps;isfs; ,Uf;fyhk;. vdf;Nfh 
gy;yhapuf;fzf;fhd gps;isfs; ,Uf;fpd;wdh;. mjhtJ mth;fs;jhk; vd;Dila 
JUf;fpa mbikfs;;;;;;; mth;fs;jhk; vd;Dila Ml;rpg; gFjpfSf;F thhpRfs;; 
mg;gFjpfspy; vy;yhk; vd; ngaiu Fj;gh (khutba) mopahtz;zk; ‘ghJfhg;gh;’ vd;w 
thf;fpaj;ij $wpaJ ahh;? 

a. g`h`Aj;jPd; Fh;~g;   b. f[pdpapd; k ;̀%j; 

c. ~p`hGj;jPd; K`k;kj;   d. Fj;Gj;jPd; Ingf; 
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e. tpil njhpatpy;iy 
  

66. To whom does the Election Commission submit, its annual report? 
a. Lok Sabha   b. Rajya Sabha  c. Parliament of India 
d. President of India e. Answer not known 
Njh;jy; Mizak; jdJ tUlhe;jpu mwpf;ifia ahUf;F rkh;gpf;f Ntz;Lk;? 

a. kf;fs; rig    b. khepyq;fs; rig  
c. ,e;jpa ghuhSkd;wk;   d. ,e;jpa FbauRj; jiyth; 

e. tpil njhpatpy;iy 
 

67. Elections to the local government bodies are made mandatory by which amendament? 
a. 72nd Amendment    b. 73nd Amendment   
c. 64nd Amendment    d. 63nd Amendment 
e. Answer not known 
cs;shl;rpj;Jiw murhq;fj;jpy; Njh;jy; fl;lhak; vd;W $wpa rl;lj;jpUj;jk; 

a. 72-tJ rl;lj;jpUj;jk;   b. 73-tJ rl;lj;jpUj;jk; 
c. 64-tJ rl;lj;jpUj;jk;   d. 63-tJ rl;lj;jpUj;jk; 

e. tpil njhptpy;iy 
 

68. Which among the following is/are the utility of Directive Principles of State Policy? 
1. Rigid Constitution 
2. Appointment of Governor 
3. Integrated Judiciary 
a. 1,3    b. 1,2    c. 2,3 
d. All the above  e. Answer not known 

topfhl;L newpKiwf; Nfhl;ghLfspd; gad;ghLfs; fPo;f;fhzg;gLgitfspy; vJ / vit? 
1. nefpoh murpayikg;G 
2. fth;dh; epakdk; 
3. xUq;fpize;j ePjpj;Jiw 
a. 1,3     b. 1,2    c. 2,3 

d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 
 

69. Multidimensional Poverty Index includes the indicators except, 
a. Education    b. Market   c. Health 
d. Living Conditions  e. Answer not known 
gyghpkhz tWik FwpaPL fPo; cs;s Fwpfhl;bfspy; vtw;iw cs;slf;ftpy;iy? 

a. fy;tp    b. re;ij   c.Rfhjhuk; 
d. tho;f;if epiy   e. tpil njhpatpy;iy 
 

70. What do you mean by missing women? 
a.  Quantifying Excess female fertility 
b. Quantifying Excess female absconding from the crime 
c. Quantifying Excess female mortality 
d. Quantifying Excess female illiteracy 
e. Answer not known 
“njhiye;J Nghd ngz;fs;”- vd;gJ? 
a. mjpfgbahd ngz;Foe;ijfs; fUTWjiy msptLjy; 
b. mjpfgbahd ngz;fs; Fw;wq;fspypUe;J jg;gpg;gij mstply; 
c. mjpfgbahd ngz;fs; ,wg;G tpfpjj;ij mstply; 
d. mjpfgbahd ngz;Fow;ijfspd; gbg;gpd;ikapid mstply; 
e. tpil njhpatpy;iy 
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71. Tax Revenue are  

1. Taxes on income and expenditure 
2. Taxes on property 
3. Taxes on Commodities 
4. Interest receipts and dividends. 
Select the correct answer using the code given 
a. 1,2 and 4   b. 1, 2 and 3   c. 3, 4 and 2 
d. Above all   e. Answer not known 
thp tUkhdq;fspy; mlq;Ftd 
1. tUtha;> nryTfs; kPJ Nghlg;gLk; thp 
2. nrhj;Jf;fs; kPJ Nghlg;gLk; thp 
3. nghUs;fs; kPJ Nghlg;gLk; thp 
4. gq;Ffs; kw;Wk; tl;bfspd; urPJ 
nfhLf;fg;gl;l FwpaPLfspypUe;J rhpahd $w;iwj; Njh;e;njL. 
a. 1> 2 kw;Wk;   b. 1> 2 kw;Wk; 3  c. 3> 4 kw;Wk; 2 
d. NkNy cs;s midj;Jk; e. tpil njhpatpy;iy  
 

72. Name the great Indian leader is known as “Bismarck of India” for his services to India 
a. Gandhi   b. Nehru   c. Sardar Patel 

d. Rajendra Prasad  e. Answer not known 
“,e;jpahtpd; gp];khh;f” vd;W miof;fg;gl;l rpwe;j ,e;jpa jiyth; 
a. fhe;jp   b. NeU   c. rh;;jhh; gl;Nly;  
d. ,uhN[e;jpu gpurhj; e. tpil njhpatpy;iy 
 

73. Batukeshwar Datt and ________ threw bomb in the Central Assembly on 8th April 
1929. 
a. Ram Prasad  b. Roshan Lal   c. Bhagat Singh 
d. Raj Guru   e. Answer not known 
gl;LNf];tu jj; kw;Wk; _______ kjjpa rl;lrig Nky; 8 Vg;uy; 1929 md;W Fz;L 
vwpe;jhh;fs;. 
a. uhk;gpurhj;   b. Nuh~d; yhy;   c. gfj; rpq; 
d. eh[; FU   e. tpil njhpatpy;iy 
 

74. In Saunders Murder case _______ Were executed in the Lahore Jail on 23 March 1931. 
1. Ram Prasad Bismil and Lal Lajpat Rai 
2. Bhagat Singh and Raj Guru 
3. Roshan Lal, Ram Prasad, Hussainiwala 
4. Bhagat Singh, Raj Guru and Sukh dev 
a. 1 only   b. 1 and 3    c. 2 and 3 
d. 2 and 4 only  e. Answer not known 
rhz;lh;]; gLnfhiy tof;fpy;> 23 khh;r; 1931 yh$h; rpiwapy; J}f;fpylg;gl;lth;fs;  
1. uhk;gpurhj; gp];kpy; kw;Wk; yhyh y[;gj;uha; 
2. gfj;rpq; kw;Wk; uh[;FU 
3. Nuh~d; yhy;> uhk;gpurhj;> `{irdpthyh 
4. gfj; rpq;> uh[; FU kw;Wk; Rf;Njt; 
a. 1 kl;Lk;   b. 1 kw;Wk; 3   c. 2 kw;Wk; 3 
d. 2 kw;Wk; 4 kl;Lk; e. tpil njhpatpy;iy 
 

75. The smallest number which is exactly divisible by all the numbers from 1 to 9 
a. 1260  b. 2520   c. 5040 
d. 9000  e. Answer not known 
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1 ,ypUe;J 9 tiuapyhd midj;J vz;fshYk; tFg;gLk; kpfr;rpwpa vz; 
a. 1260  b. 2520   c. 5040 
d. 9000  e. tpil njhpatpy;iy 
 

76. The headquarters of Maruthu Pandiyar 
a. Arantangi   b. Okkur   c. Paramakudi 
d. Siruvayal   e. Answer not known 
kUJ ghz;badpd; jiyikaplk; vJ? 

a. mwe;jhq;fp   b. xf;$h;   c. gukFb 
d. rpWthay;   e. tpil njhpatpy;iy 
 

77. The Military General, who suppressed the Vellore Mutiny was 
a. George Carmichael Smyth  b. Rollo Gillespie 

c. John Nicholson    d. William Hodson 
e. Answer not known 
NtY}h; fyfj;ij fl;Lg;ghl;Lf;Fs; nfhz;L te;j ,uhZt jsgjp ahh;? 
a. [hh;[; fhh;kpnry; ];kpj;   b. NuhNyh fpy;y];gp  
c. [hd; epf;fy;rd;    d. tpy;ypak; `hl;rd; 
e. tpil njhpatpy;iy 
 

78. Match the authors with their short stories 
Author   Short story 
A. Jayakanthan  1. Vidiyumaa 
B. Mouni   2. Aknipravesham 
C. Pudimaipithan  3. Azhiyaa Chudar 
D. Ku. Pa. Rajagopaln 4. Saaba Vimochanam 

(A) (B) (C) (D) 
 a.  3  2  4  1  
 b.   3  2  1  4 
 c.  2  3  4  1  
 d.  2  3  1  4 
 e. Answer not known 

rpWfij Mrphpah;fis mth;fsp vOjpa rpWfijfNshL njhlh;GgLj;Jf. 
Mrphpah;   rpWfij 
A. n[afhe;jd;  1. tpbAkh 
B nksdp   2. mf;dpg;gpuNtrk; 
C. GJikg;gpj;jd;  3. mopahr;Rlh; 
D. F.g. uh[Nfhghyd; 4. rhg tpNkhrdk; 

(A) (B) (C) (D) 
 a.  3  2  4  1  
 b.   3  2  1  4 
 c.  2  3  4  1  
 d.  2  3  1  4 
 e.  tpil njhpatpy;iy 

 
79. “Paavai Paadiya Vaayaal Koovai Paduga”? 

“The mouth which sang paavai will have to sing Kovai” 
Whom did God Siva address this to? 
a.  Sundarar   b. Manickavasakar   c. Genanasampanthar 
d. Navukkarasar  e. Answer not known 
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“ghit ghba thahy; Nfhit ghLf” vd ,iwtd; (rptd;) ahhplk; ciuj;jhh;? 
a. Re;juh;   b. khzpf;fthrfh;   c. Qhdrk;ge;jh; 

d. ehTf;furh;   e. tpil njhpatpy;iy 
 

80. What do you mean by “Lyric Poetry”? 
a. Devotional songs  b. Heroic songs  c. Emotional/romantic songs 

d. Folklore songs  e. Answer not known 
‘yphpf;’ ghly;fs; vd;W vt;tifg; ghly;fisf; Fwpg;gpLfpd;Nwhk;? 
a. gf;jpg; ghly;fs;   b. tPuAfg; ghly;fs;   
c. jd;Dzh;r;rpg; ghly;fs;  d. njk;khq;Fg; ghly;fs; 
e. tpil njhpatpy;iy 
 

81. (i) He was the first Indian Governor General 
(ii) He served as the Governor of Bengal 
(iii) He became the Chief Minister of Madras Presidency in 1937  
Who is described in the above statements? 
a. Kamaraj   b. Rajaji  c. Natesan 
d. Munuswamy  e. Answer not known 
(i) mth; Kjy; ,e;jpa fth;dh; n[duyhf ,Ue;jth; 
(ii) tq;fhsj;jpy; fth;duhfg; gzpahw;wpath; 
(iii) nrd;id khfhzj;jpd; Kjiyikr;ruhf 1937-y; Mdhh; 
Nkw;$wpa $w;Wf;fs; ahiu tpthpf;fpwJ? 
a. fhkhuh[h;   b. ,uh[h[p   c. eNlrd; 
d. KDrhkp   e. tpil njhpatpy;iy 
 

82. Name the first modern bank in Tamil Nadu was started by British in 1843 
a. Bank of Chettinadu  b. Arbuthnot & Co 
c. Bank of Madura   d. Bank of Madras 

e. Answer not known 
1843-k; Mz;L Mq;fpNyauhy; jkpo;ehl;by; Muk;gpf;fg;gl;l Kjy; etPd tq;fp 
a. nrl;behL tq;fp   b. Mh;Gj;ehl; & fk;ngdp 
c. kJuh tq;fp   d. nkl;uh]; tq;fp 
e. tpil njhpatpy;iy 
 

83. Kaka kalelkar Commission is related to  
a. The National Commission for Scheduled Castes 
b. The National Scheduled for Scheduled Castes 
c. The Backward Class Commission 
d. The Anglo Indian Community 
e. Answer not known 
fhf;fh fNy;fh; Mizak; vjNdhL njhlh;G cilaJ? 
a. gl;baypd [hjpf;fhd Njrpa Mizak; 
b. kiytho; kf;fSf;fhd Njrpa Mizak; 
c. gpw;gLj;jg;gl;Nlh; Njrpa Mizak; 
d. Mq;fpNyh ,e;jpaUf;fhd mikg;G 
e. tpil njhpatpy;iy 
 

84. Identify the article which promotes educational and economic interests of Scheduled 
Castes, Schedules and other weaker sections 
a. Article 46  b. Article 15   c. Article 334 
d. Article 342  e. Answer not known 
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,e;jpa murpayikg;gpy; cs;s gl;bay; rhjpfs;> gl;bay; goq;fbapdh; kw;Wk; gpw 
gytPdkhd gphpTfspd; fy;tp kw;Wk; nghUshjhu eyd;fis Cf;Ftpf;Fk; gphpti 
milahsk; fhzTk;. 
a. gphpT 46   b. gphpT 15   c. gphpT 334 
d. gphpT 342   e. tpil njhpatpy;iy 
 

85. Which among the following statements is true with Self-Respect Movement? 
a. Self-Respect Movement is a social protest against upper caste Hindus. 
b. Self-Respect movement was more interested in social freedom. 
c. Self-Respect movement directed its appeal mainly to land owning class 
d. Self-Respect movement was initiated to win political independence 
e. Answer not known 
gpd;tUk; $w;Wf;fspy; Ra-khpahij ,af;fj;ijg; gw;wp rhpahdJ vJ? 
a. Ra-khpahij ,af;fk; vd;gJ cah; rhjp ,e;Jf;fSf;F vjpuhd xU r%fg;; Nghuhl;lk; 
b. Ra-khpahij ,af;fk; f%f rje;jpuj;jpd; kPNj mjpf <LghL nfhz;bUe;jJ 
c. Ra-khpahij ,af;fk; ngUk;ghYk; epyKs;s th;f;fj;jpw;fhfNt Kiwapl;lJ 
d. Ra-khpahij murpay; Rje;jpuj;ij ngWtjw;fhf Njhw;Wtpf;fg;gl;lJ 

e. tpil njhpatpy;iy 
 

86. Jawaharlal Nehru referred to the following town in Tamil Nadu as  
“Little Japan” because it contributes to 90 % of India’s production of safety matches 
a. Karur  B. Sivakasi   c. Kanchipuram 
d. Sivaganga  e. Answer not known 
[t`h;yhy; NeU jd;Dila jkpo;ehl;Lr; Rw;Wg; gazj;jpd; NghJ ,e;jpahtpd; 90 
jPg;ngl;b gq;fspg;gpid nra;tjhy; “rpwpa [g;ghd;” vd;W Fwpg;gpl;lJ 
a. f&h;  b. rptfhrp   c. fhQ;rpGuk; 

d. rptfq;if  e. tpil njhpatpy;iy 
    

87. Match List I (variable) with List II (measures) and select the correct answer using the  
Codes given below the list: 

List I      List II 
A. Rapid growth of income   1. Gini coefficient 
B. Greater inequality in income  2. Gross state domestic product per capita 
    distribution 
C. Greater regional imbalance  3. GDP 
D. High level of aggregate output  4. Average annual rates of growth of GDP 
     and income 

(A) (B) (C) (D) 
 a.  2  4  1  3 
 b.   4  1  2  3 
 c.   4  1  3  2 
 d.  2  3  2  4 
 e. Answer not known 

gpd;tUk; ml;ltizapy; nfhLf;fg;gl;L FwpaPLfis gad;gLj;jp rhpahd tpilapid  
ml;ltiz- I (khwyp) cld; ml;ltiz-II (msTfs;)-I nghUj;Jf 
ml;ltiz I     ml;ltiz II 
a. mjpf msT tUtha; tsh;r;rp  1. fpdp Fzfk; 
b. tUtha; gfph;tpy; ghypdp ghFghL 2. nkhj;j khepy cs;ehl;L jyh cw;gj;jp 
c. ghypd gpuhe;jpa Vw;wj;jho;T  3. nkhj;j cs;ehl;L cw;gj;jp 
d. mjpf msT nkhj;j tUtha;  4. nkhj;j cs;ehl;L cw;gj;jpapd; tUlhe;jpu 
   kw;Wk; cw;gj;jp      tsh;r;rp tPjk; 
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(A) (B) (C) (D) 
 a.  2  4  1  3 
 b.   4  1  2  3 
 c.   4  1  3  2 
 d.  2  3  2  4 

e. tpil njhpatpy;iy 
 

88. Find the compound interest on Rs. 20,000 at 15 % per annum for 
1

2
3

 years 

a. Rs. 7, 772.50  b. Rs. 6,772.50   c. Rs. 7, 772 

d. Rs. 2, 777.50  e. Answer not known 

Rs. 20,000 -f;F15 % Mz;L tl;b tPjj;jpw;F 
1

2
3

 Mz;LfSf;Ff; $l;Ltl;biaf; fhz;f 

a. Rs. 7, 772.50  b. Rs. 6,772.50   c. Rs. 7, 772 

d. Rs. 2, 777.50  e. tpil njhpatpy;iy 
 

89. The ratio of F.C.F and L.C.M. of the numbers 18 and 30 is 
a. 3 :5   b. 15 : 1   c. 1 : 15 

d. 5 : 3   e. Answer not known 
18 kw;Wk; 30 Mfpa vz;fspd; kP.ng.fh kw;Wk; kP.rp.k-tpd tpfpjk; 
a. 3 :5   b. 15 : 1   c. 1 : 15 

d. 5 : 3   e. tpil njhpatpy;iy 
 

90. BANGALORE is represented as 123426789, how RANGE is represented? 
a. 82934  b. 82439   c. 82349 
d. 82943  e. Answer not known 
BANGALORE  vd;gij 123426789 vd;w vOjpdhy;> RANGE vd;gij vOJk; Kiw 
a. 82934  b. 82439   c. 82349 
d. 82943  e. tpil njhpatpy;iy 

  
91. BOOK = 43 and PEN = 35 therefore COPY =? 

a. 48  b. 60  c. 59  d. 79  e. Answer not known 
BOOK = 43 kw;Wk; PEN = 35 vdpy; COPY =? 
a. 48  b. 60  c. 59  d. 79  e. tpil njhpatpy;iy 
 

92.  

4 3 2 

6 9 10 

9 27 x 

Find the value of x. 
a. 30    b. 20    c. 50 

d. 54    e. Answer not known 

4 3 2 

6 9 10 

9 27 X 

X-d; kjpg;ig fhz;f. 

a. 30    b. 20    c. 50 

d. 54    e. tpil njhpatpy;iy 
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93. The dimension of a fish tank is 4 m x 2 m x 3 m. How many litres of water is can hold? 

a. 24,000 litre   b. 2,400 litre   c. 240 litre 
d. 24 litre   e. Answer not known 
xU kPd; njhl;bahdJ 4 kP x 2 kP x 3 kP vd;w msTfis cilaJ. ,e;jj; 
njhl;bahdJ vj;jid ypl;lh; jz;zPh; nfhs;Sk;? 
a. 24,000 litre   b. 2,400 litre   c. 240 litre 
d. 24 litre   e. tpil njhpatpy;iy 
 

94. Area of a square is equal to the area of a circle. If the radius of the circle is 14 cm. What 
is the approximate length of a square? 
a. 20 cm   b. 25 cm   c. 30 cm 
d. 30 cm   e. Answer not known 
rJuj;jpd; gug;gsTk; tl;lj;jpd; gug;gsTk; rkk;. tl;lj;jpd; Muk; 14 nr. kP vdpy; 
rJuj;jpd; gf;fj;jpd; Njhuha msT ahJ? 
a. 20 cm   b. 25 cm   c. 30 cm 
d. 30 cm   e. tpil njhpatpy;iy 
 

95. Ram deposited Rs. 15, 000 as fixed deposit. If bank gives 4% as simple interest after 73 

days how much total amount he will get? 

a. Rs. 16,000   b. Rs. 15,000   c. Rs. 15, 120 

d. Rs. 15,100   e. Answer not known 

uhk; jk;kplKs;s Rs. 15>000-I epue;ju itg;Gf; fzf;fpy; KjyPL nra;fpwhh;. me;j 

tqpfp 4% jdptl;b nfhLj;jy; 73 ehl;fs; fopj;J mtUf;F fpilf;Fk; nkhj;j 
njhif ahJ? 

a. Rs. 16,000   b. Rs. 15,000   c. Rs. 15, 120 

d. Rs. 15,100   e. tpil njhpatpy;iy 
 

96. By selling a flower pot for Rs. 528, a woman gains 20 %. At what price should she sell 

it to gain 25 % 

a. Rs. 500   b. Rs. 550   c. Rs. 553 

d. Rs. 573   e. Answer not known 

G+r;rl;b xd;iw Rs. 528 -f;F tpw;W xU ngz; 20% ,yhgk; ngWfpwhh;. 25% ,yhgk; 
ngw mth; mij vd;d tpiyf;F tpw;f Ntz;Lk;? 

a. Rs. 500   b. Rs. 550   c. Rs. 553 

d. Rs. 573   e. tpil njhpatpy;iy 
 

97. What is 25 % of 30% of 400? 
a.  20  b. 30  c. 40  d. 50  e. Answer not known 
400-d; 30% kjpg;gpd; 25% vd;d? 
a.  20  b. 30  c. 40  d. 50  e. tpil njhpatpy;iy 
 

98. If x % of 600 is 450 then, find the value of x 
a. 60  b. 48  c. 75  d. 89  e. Answer not known 
600-,d; x % vd;gJ 450 vdpy;> x-,d; kjpg;igf; fhz;f. 
a. 60  b. 48  c. 75  d. 89  e. tpil njhpatpy;iy 
 

99. If 7 : 5 is in proportion to x : 25 then x is 
a. 3.5  b. 35  c. 53  d. 5.3  e. Answer not known 
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7 : 5  MdJ x : 25-f;F tpfpj rkk; vdpy; x-d; kjpg;G 
a. 3.5  b. 35  c. 53  d. 5.3  e. tpil njhpatpy;iy 
 

100. Find the LCM of the following 
8x4 y2, 48x2 y4 

 a. 8x4 y2   b. 48x2 y4   c. 48x4 y4 

 d. 8x2 y4   e. Answer not known 
 gpd;tUtdtw;wpw;F kP.ngh.k. fhz;f 

8x4 y2, 48x2 y4 

a. 8x4 y2   b. 48x2 y4   c. 48x4 y4 

d. 8x2 y4   e. tpil njhpatpy;iy 

 
 

 
 
 
 
 
 
 
 
 


